set-4.  Wave packet propagation
        This set is due on 9/19/06
1. Problem 2.22

    Do (a), (b) and (c)

2. Graphic exercise on the wave packets given by problem 2.22.

You can start with the answer given in part (b).

  Set m=1, 
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=1, consider a=1 and a=10 separately.

(a) Graph
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 for t=2, 8, 15.   

(b) Graph the real part of  
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 at the t=2,8,15.
   What you are to learn: (a) A tighter wave packet will broaden faster,
                                        (b) The wave packet oscillate very fast at larger time
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